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SLLIEON I (50 MARKS)

(Answer all the questions in this Section in the spaces provided)
<
@
1. Use logarithm tables to evaluate Q’Z& (4 mks)
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¢ 2. 200cm’ of acid is mixed with 300cm® of alcohol. If the densities of acid and alcohol are 1.08g/cm’
& and 0.8¢g/cm’ respectively, calculate the density of the mixture. (3 mks)
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3. Given that Cos 3(0 - %) = Sin '/3(0 + 35) (3 mks)
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nearest Zdp did he receive. Use the rales delow: \Q(O

Buying (sh) be-% Selling (shs)
1 US dollar 96.20 0@‘2’ 96.90
1 Eure 112.32 Q}Q‘}- 112.98
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5. Ca@&iale the exact area of the shaded region.

¥ ¥y A y=(x-2)(x-+2)

A

(2 [KS)

(4 mks)

6. A polygon of n sides has half the interior angles as 150 each and the rest as 170 each. Find the sum

of interior angles of the polygon.
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8.@@?’\/011 that p = (~9J q :(8 J : Ft] J and b = “hp+ '/;cl - 3r. Express as a column vector. (2 mks)
%
)
Q‘QI
2
<
\/

9. The masses of two similar building blocks

are 2.7kg and 800 grams respectively. Find the surface
area of the larger block if the surface area

of the smaller block is 120cm? (3 mks)
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13, meplm without using tables or calculator leavi g vour answer in the form */

Bt = R @
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{3mks:

pdidl el to DE. Given that BD = 6.4cm DE=12¢cm BC= dem and AC = 1.8cm. Find the value

{3 mkss
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16. The figure below represents a prism length 5.5¢cm.AB = AE = CD = 2.5¢cm and BC =ED=1.5cm
Q&Q’ {4 mks:
<
\
A\

&

CEW
- . I}
a) Draw the net of the prism

b) Calculate the volume of the prism.
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I'7. Using a ruler and compass only constr

< ; : . :
4R a trapezium ABCD in which AB is paral

lel to CD,
AB =9¢m and AD =5cm, angle DAg%-‘ 75° and angle ABC = 60°. (4 mks)
S ;
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- b) Measure CD apd BC (2 mks)

¢) At B construct a line perpendicular to AB meeting DC produced at F (1 mk)
d) Measure BF and hence calculate to onz decimal place the area of the Trapezium. (3 mks)
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a) Determine the number of each item she b@m.
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{5 mks)

b) The trader sold all the items at a profit of 25% per blouse and 30% per skirt. Calculate the total

profit she made.

WESTLANDS - 2014 9

(5 mks)

(MM MATHEMATICS 1



e uuuni\atxlol@!.L U1 S ald e DeEring of U trom L 15 S43°W.
X :
a) Make a scale drawing showing the rel

L

%K%ﬁ positions of A, B, Cand D using the scale of Tem to .

represent Skm. R (5 mks)
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t) Use your drawing to determine:

i) the bearing of B from D {1 mk)
if) the distance between B and D (2 mks)
1i) the distance between C and D (2 mks)
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a) Using an assumed mean 0£45.5, calculate
1) the mean 4\6 (4 mks)
=
o
R
N Q
Yl
@‘o
NL
(4
@
<
\/
&
i1) the standard deviation (4 mks)
b) Calculate the upper quartile (2 mks
i3 (MM) MATHEMATICS 1
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LNE Vertical distance between the taces is 21205@
O

Determire; Q}Gy
a) The surface area of the stone. szrQ
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b) The volume of the stone.
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S
Q‘b-
X -4 3 %, -1 (a}’J 1 2 3 4
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b) Find X

- '\ . 2
1) the area encioseg\k%’ the x-axis and the curve y = 9 - x> between x = -4 and x = 4 using

trapezium ru\h; with 8 trapezia. (3 mks)
<
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Q
Q"’é
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NA
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&
it) the exact area enclosed above. (3 mks)

¢) Calculate the percentage error in finding the area using trapezium rule in (b) (i) above. (3 mks)
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